restart

Ecuacion = diff (z(x, y), x$2) — 6-diff (z(x, y),y) =0

Ecuacion = % z(x,y) — 6 (% Z(x,y)) =0

EcuacionDos := eval(subs(z(x,y) =F(x)-G(y), Ecuacion))
¢ d
E ionDos = | —= F —6F — =
cuacionDos ( e (x)] G(y) (x) ( dy G(y)) 0
(lhs(EcuacionDos) + 6 F(x) (i G(y) ) )
EcuacionTres = simplify dy
F(x)-G(y)
(rhS(EcuacionDos) + 6 F(x) (diy G(y) j )
- F(x)-G(y)
d? d
P 6 (— G(y))
EcuacionTres = = dy
F(x) G(y)
EcuacionX := lhs(EcuacionTres) = alpha; EcuacionY := rhs(EcuacionTres) = alpha;
2
d—z F(x)
. _ _dx _
EcuacionX : —F ) o
d
6 (4 0]
EcuacionY = Y =Q
G(y)

SolucionCeroX := dsolve(subs(alpha=0, EcuacionX) )
SolucionCeroX :=F(x) = Clx+ C2

SolucionCeroY = dsolve(subs(alpha=0, EcuacionY) )
SolucionCeroY = G(y) = CI

SolucionCero := z(x,y) =rhs(SolucionCeroX ) -subs(_CIl = _CI10, rhs(SolucionCeroY))

SolucionCero:=z(x,y) =( Clx+ _C2) CI0
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